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7-2-1.1

7-2-1.1

7-2-1.2

7-2-1.1

3.0m

3.0m

1.5m

10m

10m

7-2-1.2
m/s
0 0.0 0.3
1 0.3 1.6
2 1.6 3.4
3 3.4 5.5
4 5.5 8.0
5 8.0 10.8
6 10.8 13.9
7 13.9 17.2
8 17.2 20.7
9 20.8 24.4
10m
14
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7-2-1.3

I,
5
7-2-1.3
29 4 1 5 1
29 8 1 9 1
29 10 2 11 2
30 1 5 2 6
29 4 1 30 31
Gy
F.
7-2-1.4
7-2-1.4
t/km?/
2.4 1.3 3.7
0.4 0.8 1.2
0.3 0.1 0.4
1.2 1.2 2.4
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7-2-1.5 7-2-1.6 7-2-1.2 7-2-1.3
2.0m/s
17.2 7-2-1.6
5.5m/s
1.8
7-2-1.5
1
m/s m/s m/s m/s m/s 16
4 30 720 2.4 6.6 0.0 4.1 1.4 25.6 2.4
5 31 744 2.0 6.0 0.0 3.6 1.0 33.9 2.4
6 30 720 2.1 6.3 0.0 3.3 1.2 24.4 1.8
7 31 744 2.2 5.4 0.0 3.7 1.4 44 .8 3.6
8 31 744 1.6 6.1 0.0 3.7 0.3 23.3 16.0
9 30 720 1.8 7.5 0.0 3.7 0.9 23.2 6.1
10 31 744 2.1 12.8 0.0 6.5 1.0 23.0 4.3
11 30 720 1.9 10.1 0.0 4.2 0.5 34.2 9.4
12 31 744 2.0 7.3 0.0 3.5 0.9 42.5 13.0
1 31 744 2.0 8.9 0.0 5.2 0.3 34.9 19.2
2 28 672 1.6 6.4 0.0 3.0 0.5 23.2 16.4
3 31 744 2.1 7.4 0.0 4.0 0.7 16.7 12.8
365 8760 2.0 12.8 0.0 6.5 0.3 17.2 8.9
0.4m/s
10m
7-2-1.6
m/s
4 5 6 7 8 9 10 11 12 1 2 3
0.0 m/s 1.4 1 0.4 0.7 1.6 |12.8] 3.3 | 2.4 |6.1|9.8(14.7|11.9| 8.1 6.1
0.3 m/s
0.3 m/s
1.6 /s 27.1133.1|31.3|27.7(33.1({41.7{30.0(33.1(28.8(29.0|39.6|29.4|32.0
1.6 m/s
3.4 n/s 50.4|57.1|59.4|56.2|49.2(47.9(60.2(51.8|46.6|37.5|41.7|45.0|50.2
3.4 m/s 18.21 9.3 8.1 (14.5(4.8 | 6.1 |5.4|6.3|11.6|13.8| 5.7 |14.9] 9.9
5.5 m/s
5.5 m/s 2.910.110.6|0.0[0.12(1.0({0.8|2.2|3.2|4.7|1.2|2.6]|1.6
8.0 m/s
8.0 m/s 0.0 0.0|0.0|00|0.0|0.0|1.2|0.6[0.0[0.3[0.0[0.010.2
5-5m/s 2900.1]06]00]|01]|1.0][20]28][32]|5.0]|1.2]|26]1.8
24120212216 |18|2.1|1.9|2.0|2.0|1.6|2.1|2.0
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11

C X)=a N, Ny u® xP

C X X 1.5m t/km?/

u m/s

c c=1

T/g xi+Axi X dx do i
C X)= f f a N, Ny u¢® XP? fi—m——
0 X

i

3 /sa N, Ng 1 - N—b+2 _ i-bt2)p

C X)= Zf e ) {(xi + Axi) —xi }ide
Cg X X 1.5m t/km?/
n 16

Ui m/s ui<l u=1

fi %

c c=1

AXi m

Xi m

xi 1 xi 1

>
=
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F.
7-2-1.7 25
7-2-1.7
2
1
a b /
8 1,500 1.7 25
1 1-1
2 11
.
7-2-1.8
7-2-1.4
7-2-1.8
m2
16,700
7.
7-2-1.9 1
8 12 13 17
7-2-1.9
m/s
0.8 |11.7(7.1|2.6{1.5|1.6|2.716.0|31.3|/8.4|0.5|0.5|2.2|7.7|2.0|1.5]1.8
2.012.812.3|1.7|11.6|2.2(2.2|1.7]12.9(4.1]|2.3|2.0(2.3|3.0(2.0]1.9
1.0 (11.4|14.7{ 3.0 1.1 1.9 |3.0|14.8/30.0(7.1|10.0(0.8|1.4|3.8(0.8|0.5]|4.8
1.5(2.7]12.111.5|1.3|2.0(2.2]|1.5|2.5]|3.5 1.2 | 1.6 | 2.4 |2.7]| 2.7
4.3 118.5(14.1|11.4{0.5|1.6 1.8 (10.0/11.1|3.8|0.8|1.4|3.2|15.1|7.4|2.3]|2.5
20(2.4(2.1|15|08|1.6|1.7|1.2{1.73.8|13.3|11.3|3.6|2.9]2.1|1.6
4.0 10.1|/ 5.6 1.3 |0.4|0.7|1.7|8.6|8.5|5.1[3.8|0.6|6.1[25.4|5.6]|2.4[10.3
1.4 2.2 (1.7(15|11.2|109|1.4|1.1({1.6|4.3|4.0|11.3|2.5|3.3]2.0(1.5
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7-2-1.6 1 4

2.9 9.5t/km*/

7-2-1.10

25.2  26.7t/km*/

7-2-1.10
t/km?/
25.2 26.6 26.7 25.9
3.9 2.9 9.0 9.5
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(3)

T:
F.
.
20t/km?/ 10t/km?/
10t/km?/
11
3.7t/km?/
10t/km?/
7-2-1.11
11
10t/km?/
2
F.
3m
.

9._5t/km?/
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(1)
1

NO NOX

7-2-1.7
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SPM

3km

NO2
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R1

7-2-1.12  7-2-1.7
7-2-1.12
R1 179
R2 0213
R3 0104
6
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F.
7-2-1.13
7-2-1.13
53 7 38 1.5m
48 5 25 3.0m
.
7-2-1.14
7-2-1.14
10m 10m
2,
T.
#.
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7-2-1.15
7-2-1.15
29 4 18 4 24
29 8 2 8 8
29 10 12 10 18
30 1 24 1 30
29 4 1 30 3 31
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(7)
7-2-1.16 1
3 7-2-1.8 1 3
R1 0.016 0.037ppm R2 0.019 0.042ppm
R3 0.012 0.035ppm 0.04 0.06ppm
R2
98 0.04ppm
1 24 7
7-2-1.16 1
1
ppm ppm ppm
7 168 0.020 0.043 0.031
7 168 0.013 0.034 0.016
R1 179 7 168 0.018 0.052 0.026
7 168 0.027 0.130 0.037
28 672 0.020 0.130 0.037
7 168 0.020 0.053 0.033
7 168 0.015 0.041 0.019
R2 0213 7 168 0.023 0.067 0.029
7 168 0.030 0.133 0.042
28 672 0.022 0.133 0.042
7 168 0.016 0.040 0.026
7 168 0.010 0.027 0.012
R3 0104 7 168 0.019 0.056 0.026
7 168 0.023 0.063 0.035
28 672 0.017 0.063 0.035
7 168 0.016 0.040 0.027
7 166 0.011 0.029 0.013
6 7 167 0.016 0.049 0.022
7 168 0.022 0.061 0.031
28 669 0.016 0.061 0.031
1 1 0.04ppm 0.06ppm
98 0.04ppm
20
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.06

.05

. 0.04
s
o
< 0.03
.02
.01
.00 : .
——R] —&— R2 —a— R3 --=-O---
7-2-1.8 1
7-2-1.16 2
ppm ppm ppm
7 168 0.012 0.066 0.019
7 168 0.010 0.060 0.019
R1 179 7 168 0.024 0.131 0.040
7 168 0.043 0.673 0.101
28 672 0.022 0.673 0.101
7 168 0.014 0.101 0.028
7 168 0.016 0.078 0.025
R2 0213 7 168 0.030 0.217 0.044
7 168 0.057 0.831 0.131
28 672 0.029 0.831 0.131
7 168 0.005 0.031 0.007
7 168 0.006 0.027 0.011
R3 0104 7 168 0.013 0.073 0.018
7 168 0.020 0.148 0.036
28 672 0.011 0.148 0.036
7 168 0.004 0.019 0.006
7 166 0.005 0.022 0.007
6 7 167 0.007 0.046 0.010
7 168 0.019 0.196 0.033
28 669 0.009 0.19 0.033
20
.14
.12
.10
=
g oo
.06
.04
.02
.00 : .
— Rl —&—R? —®—R3 -—-O---
7-2-1.8 2

7-37




7-2-1.16 3

1
ppm ppm ppm
7 168 0.032 0.108 0.050
7 168 0.023 0.088 0.034
R1 179 7 168 0.043 0.171 0.060
7 168 0.070 0.790 0.139
28 672 0.042 0.790 0.139
7 168 0.034 0.149 0.061
7 168 0.031 0.104 0.043
R2 0213 7 168 0.052 0.267 0.069
7 168 0.088 0.964 0.173
28 672 0.051 0.964 0.173
7 168 0.021 0.063 0.033
7 168 0.016 0.042 0.023
R3 0104 7 168 0.032 0.109 0.044
7 168 0.043 0.210 0.071
28 672 0.028 0.210 0.071
7 168 0.020 0.050 0.033
7 166 0.017 0.039 0.020
6 7 167 0.022 0.073 0.031
7 168 0.041 0.257 0.061
28 669 0.025 0.257 0.061
20
0.10
0.08
£ 0.06
o
0.04
0.02
0.00 . : :

ceeOmee-

7-2-1.8 3
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()

7-2-1.17 7-2-1.9
R1 0.024 0.038mg/m* R2 0.023 0.036mg/m* R3
0.022 0.037mg/m? 1 R1 0.109mg/m® R2
0.084mg/m®* R3 0.066mg/m* 0.10mg/m?
1 0.20mg/m?
7-2-1.17
1
mg/m? mg/m® mg/m®
7 168 0.021 0.075 0.036
7 168 0.018 0.049 0.026
R1 179 7 168 0.017 0.058 0.038
7 168 0.015 0.109 0.024
28 672 0.018 0.109 0.038
7 168 0.018 0.058 0.032
7 168 0.016 0.044 0.023
R2 0213 7 168 0.016 0.056 0.036
7 168 0.016 0.084 0.024
28 672 0.017 0.084 0.036
7 168 0.018 0.047 0.028
7 168 0.017 0.043 0.022
R3 0104 7 168 0.016 0.066 0.037
7 168 0.011 0.037 0.022
28 672 0.016 0.066 0.037
7 165 0.017 0.063 0.030
7 168 0.018 0.067 0.027
6 5 141 0.013 0.059 0.015
7 168 0.011 0.037 0.023
26 642 0.015 0.067 0.030
1 1 0.10mg/m? 1 0.20mg/m?
20
0.10
R
o
B 0.0 oo
D
S
0.04
0.02
0.00 T T .
—e—R]l —&—R2 —®—R3 ---O--
7-2-1.9
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179

0213

0104

50m

R1

20m 100m

R2

R3

0213

7-2-4

7-40



7-2-1.18 1

7-2-1.18 2

7-2-1.18 1

1 0.04
1 0.04ppm ppm 0.06ppm
0.06ppm
1 0.10mg/m?
3
1 0.20mg/m 100
7-2-1.18 2

98 0.04ppm
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(2)
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7-2-1.10 179
0213 0104 3
@
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F.
NO» SPM
1.
7-2-1.11
v
< ' |
1
y v g
o |
v v
I |
v
| | |
v v
k—4 NOXx
I |
v
I |
| »
| >
A4
I |
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714

24 25 3

1.0m/s

c _ Q y? (z + H)? (z—H)?
(X, Y, Z) = m expil|— chz exp —TZZ + exp W

w
0y = 5 +0.46L0%!

0, = 0,0 + 0.311083

C X,y,z X,Y,Z ppm
mg/m?
Q ml/s mg/s
u m/s
H m
oy,0; y z m
x<W/2 o,=W/?2 OO0y
Oz 1.5m
L m
L=x-W/2
W m
X m
y X m
z X m
1.0m/s
Q 1—exp (—%) 1—exp (—t—z)
C(x,y,2z) = P z = o U — 0
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1 + ? (z + H)?
m=3z oz ' y?
t t=W/2a s
a,y
a=0.3 y=0.18 :7:00 19:00 w=0.09

2
1 1
=V, x—x—xz Ni: X E;
Qt w 3600 1000 . 1( it 1)
1=

Qt ml/m mg/m
Ee g/km
Nit /
Vi ml/g mg/g
20 523ml/g
1,000mg/g
_ Z%§1 Ca,
Ca=—"2
16
Cat = Z{(Rws/uwts) X thS} + RCdn X fCt Qt
s=1

Ca ppm mg/m?

Cat t ppm mg/m?

Rws m
TWes

UWgs m/s

RCan s/m?
fce

Q¢ ml/m s mg/m s

S 16 t dn

7-46
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7.
1.
(7)
7-2-1.19 1 3
200
400 8 12 13

@

7-47

24

100

200

17

100



7-2-1.19 1

R1 179
0 1 62 10 72 0 0 0 62 10 72
1 2 59 11 70 0 0 0 59 11 70
2 3 69 22 91 0 0 0 69 22 91
3 4 85 23 108 0 0 0 85 23 108
4 5 179 42 221 0 0 0 179 42 221
5 6 340 60 400 0 0 0 340 60 400
6 7 522 61 583 0 0 0 522 61 583
7 8 648 103 751 100 0 100 748 103 851
8 9 656 123 779 0 50 50 656 173 829
9 10 490 141 631 0 50 50 490 191 681
10 11 487 130 617 0 50 50 487 180 667
11 12 515 131 646 0 50 50 515 181 696
12 13 538 111 649 0 0 0 538 111 649
13 14 559 97 656 0 50 50 559 147 706
14 15 570 135 705 0 50 50 570 185 755
15 16 566 97 663 0 50 50 566 147 713
16 17 638 103 741 0 50 50 638 153 791
17 18 722 80 802 100 0 100 822 80 902
18 19 648 72 720 0 0 0 648 72 720
19 20 527 53 580 0 0 0 527 53 580
20 21 384 24 408 0 0 0 384 24 408
21 22 252 11 263 0 0 0 252 11 263
22 23 156 16 172 0 0 0 156 16 172
23 0 117 15 132 0 0 0 117 15 132
9,789 1,671 | 11,460 200 400 600 9,989 2,071 | 12,060
7-2-1.19 2
R2 0213
0 1 17 22 39 0 0 0 17 22 39
1 2 14 16 30 0 0 0 14 16 30
2 3 15 25 40 0 0 0 15 25 40
3 4 25 46 71 0 0 0 25 46 71
4 5 51 69 120 0 0 0 51 69 120
5 6 76 122 198 0 0 0 76 122 198
6 7 114 165 279 0 0 0 114 165 279
7 8 170 162 332 100 0 100 270 162 432
8 9 176 177 353 0 50 50 176 227 403
9 10 139 215 354 0 50 50 139 265 404
10 11 165 213 378 0 50 50 165 263 428
11 12 162 201 363 0 50 50 162 251 413
12 13 158 157 315 0 0 0 158 157 315
13 14 178 189 367 0 50 50 178 239 417
14 15 197 210 407 0 50 50 197 260 457
15 16 189 192 381 0 50 50 189 242 431
16 17 183 193 376 0 50 50 183 243 426
17 18 190 131 321 100 0 100 290 131 421
18 19 202 123 325 0 0 0 202 123 325
19 20 148 62 210 0 0 0 148 62 210
20 21 98 50 148 0 0 0 98 50 148
21 22 62 18 80 0 0 0 62 18 80
22 23 35 12 47 0 0 0 35 12 47
23 0 23 21 44 0 0 0 23 21 44
2,787 2,791 5,578 200 400 600 2,987 3,191 6,178
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7-2-1.19 3

R3 0104
0 1 155 18 173 0 0 0 155 18 173
1 2 131 16 147 0 0 0 131 16 147
2 3 100 15 115 0 0 0 100 15 115
3 4 111 31 142 0 0 0 111 31 142
4 5 152 52 204 0 0 0 152 52 204
5 6 266 76 342 0 0 0 266 76 342
6 7 493 137 630 0 0 0 493 137 630
7 8 649 149 798 100 0 100 749 149 898
8 9 649 203 852 0 50 50 649 253 902
9 10 558 192 750 0 50 50 558 242 800
10 11 558 183 741 0 50 50 558 233 791
11 12 626 171 797 0 50 50 626 221 847
12 13 628 145 773 0 0 0 628 145 773
13 14 668 154 822 0 50 50 668 204 872
14 15 658 142 800 0 50 50 658 192 850
15 16 675 128 803 0 50 50 675 178 853
16 17 686 124 810 0 50 50 686 174 860
17 18 750 126 876 100 0 100 850 126 976
18 19 723 117 840 0 0 0 723 117 840
19 20 610 87 697 0 0 0 610 87 697
20 21 519 55 574 0 0 0 519 55 574
21 22 356 47 403 0 0 0 356 47 403
22 23 266 39 305 0 0 0 266 39 305
23 0 213 35 248 0 0 0 213 35 248
11,200 2,442 | 13,642 200 400 600 | 11,400 2,842 | 14,242

()
45km/h
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7-2-1.12
1.0m 1.5m
R1
1.5m
Tl.Om
— | |
H I I I H
0.4m 2.3m 3.3m 1.4m 3.4m 3.4m 0.4m
R2
1.5m
Tl.Om
_—
I I I I
2.2m 3.7m 3.8m 1.9m
R3

2.3m 1.0m 1.3m 1.3m 3.2m 0.8m 0.8m 3.3m 1.3m  1.4m 3.5m
7-2-1.12
(x)
7-2-1.13
400m 20m 2m
180m 10m
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671
22 24 2
7-2-1.20 2
45km/h
7-2-1.20
g/ km
2 32 0.048 0.657 0.000630 0.012946
1
U=U, (H/Hp)"
U Hm m/s
Uo Ho m/s
H m
Ho m
P 1/5
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714 24

[NO,Jg = 0.0714[NO, ] "***(1 — [NO,]pg/[NOy]1)*81

[NO]r ppm
[NO:]r ppm
[NOx]ec ppm
[NO.d+
ppm [NOx]T:[NOx]R+ [NOX] BG
98 2
98 2
714 24
25 3
98 2
98
98 = a([NO;]gg + [NO;]Jgr) + b

a=134+0.11 exp(—[NO;]gr/[NO,]gc)

b = 0.0070 + 0.0012 exp(—[NO,]r/[NO5]gc)

2
2 = a([SPM]g¢ + [SPM]R) + b
a=171+037 exp(—[SPM]g/[SPM]gc)

b = 0.0063 + 0.0014 exp(—[SPM]g/[SPM]gc)

[NO.]x ppm

[NOz]s ppm
[SPM]& mg/m?

[SPM]ec mg/m*
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7-2-1.21

7-2-1.21
ppm ppm mg/m?

RL 0.020 0.014 0.014 E3
179 i i :

R2 0.022 0.016 0.014 E4
0213 i i :

R3 0.015 0.013 0.014 ES
0104 . . :
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7-2-1.22 1 2
7-2-1.14 1 2
98 0.028 0.033ppm
0.037mg/m?
7-2-1.22 1
ppm
98
R1 0.0007 0.014 0.0147 0.029
179 0.0007 0.014 0.0147 0.029
R2 0.0010 0.016 0.0170 0.033
0213 0.0010 0.016 0.0170 0.033
R3 0.0009 0.013 0.0139 0.028
0104 0.0010 0.013 0.0140 0.028
7-2-1.22 2
mg/m?
2
R1 0.00007 0.014 0.01407 0.037
179 0.00007 0.014 0.01407 0.037
R2 0.00011 0.014 0.01411 0.037
0213 0.00011 0.014 0.01411 0.037
R3 0.00008 0.014 0.01408 0.037
0104 0.00008 0.014 0.01408 0.037
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(3)

Iﬁ-
"-]_f'

7-2-1.23

98

0.04ppm

0.10mg/m?
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0.033ppm 2 0.037mg/m*
7-2-1.24 1
ppm
98

R1 0.029
179 0.029
0.033

R2 0.04
0213 0.033
R3 0.028
0104 0.028

7-2-1.24 2
mg/m®
2

R1 0.037
179 0.037
2 .037

R 0.03 0.10
0213 0.037
R3 0.037
0104 0.037
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(1)
1

NO2

DXN

2km

NO

Hg

NOX
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SPM

HCI
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® xEHEBE#IHBA (—HB)
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E3
E2 E5
E4
E4 E5
7-2-1.25
7-2-1.25
El o o
E2 o o
E3 o
E4 o
E5 o
1 E4 E5
2
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7-2-1.26

7-2-1.26

<4

El

E2

E3

E4

ES
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7-2-1.27
7-2-1.27
48
5 25 1.5m
53
, . 1.5m
48
5 25 3.0m
62 1.5m
1 12 68 1.5m
23
3 1.5m
.
7-2-1.28
7-2-1.28
10m
1.5m
25 1000m
1.5 300m
.
T.

7-63




®
7-2-1.29
7-2-1.29
29 4 18 4 24
29 8 2 8 8
29 10 12 10 18
30 1 24 1 30
29 4 18 4 25
29 8 2 8 9
29 10 12 10 19
30 1 24 1 31
29 4 1 30 3 31
29 4 18 4 25
29 8 2 8 9
29 10 12 10 18
30 1 24 1 30
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(7)
7-2-1.30 7-2-1.16
0.000 0.002ppm 1 0.002 0.010ppm
0.000 0.003ppm 0.04ppm 1 0.1ppm
7-2-1.30
1
ppm ppm ppm
7 168 0.002 0.007 0.003
7 168 0.000 0.008 0.001
E1 7 168 0.001 0.008 0.003
7 168 0.001 0.007 0.002
28 672 0.001 0.008 0.003
7 168 0.001 0.005 0.001
7 168 0.000 0.006 0.001
E2 7 168 0.000 0.007 0.002
7 168 0.000 0.002 0.000
28 672 0.000 0.007 0.002
7 168 0.001 0.007 0.003
7 168 0.001 0.010 0.003
E3 7 168 0.000 0.005 0.002
7 168 0.000 0.004 0.000
28 672 0.001 0.010 0.003
7 168 0.002 0.007 0.003
7 168 0.001 0.007 0.002
E4 7 168 0.000 0.005 0.001
7 168 0.000 0.003 0.000
28 672 0.001 0.007 0.003
7 168 0.001 0.009 0.003
7 167 0.001 0.009 0.003
E5 7 167 0.000 0.008 0.002
7 165 0.001 0.007 0.002
28 667 0.001 0.009 0.003
1 1 0.04ppm 1 0.1ppm
20
0.010
00
~
o U B
S
0.004
0.002
0.000
—e—EFl —&—E2 —%—E3 --o-E4 0 E5
7-2-1.16
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()

7-2-1.31 1
3 7-2-1.17 1 3
0.009 0.022ppm 0.029 0.032ppm
0.04 0.06ppm
98 0.04ppm
7-2-1.31 1
1
ppm ppm ppm
7 168 0.018 0.041 0.029
7 168 0.012 0.034 0.015
E1 7 168 0.016 0.056 0.025
7 168 0.020 0.067 0.032
28 672 0.017 0.067 0.032
7 168 0.012 0.039 0.021
7 168 0.009 0.025 0.012
E2 7 168 0.013 0.050 0.020
7 168 0.022 0.093 0.031
28 672 0.014 0.093 0.031
7 168 0.014 0.040 0.025
7 168 0.009 0.034 0.013
E3 7 168 0.014 0.052 0.020
7 168 0.020 0.069 0.029
28 672 0.014 0.069 0.029
7 168 0.017 0.042 0.028
7 162 0.011 0.039 0.017
E4 7 167 0.016 0.057 0.024
7 165 0.022 0.053 0.029
28 662 0.016 0.057 0.029
7 168 0.012 0.036 0.022
7 167 0.009 0.023 0.011
E5 7 167 0.013 0.039 0.019
7 166 0.018 0.050 0.029
28 668 0.013 0.050 0.029
1 1 0.04ppm 0.06ppm
98 0.04ppm
1 20
0.06
005 oo
0T 1
=
g
~ 0.03
0.02
0.01
0.00 T T r
—e—Fl —&—F2 —&—E3 -—t--F4 ---O-
7-2-1.17 1
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7-2-1.31 2

1
ppm ppm ppm
7 168 0.003 0.017 0.005
7 168 0.004 0.018 0.008
E1 7 168 0.004 0.036 0.009
7 168 0.011 0.201 0.032
28 672 0.006 0.201 0.032
7 168 0.002 0.008 0.003
7 168 0.003 0.016 0.007
E2 7 168 0.003 0.030 0.005
7 168 0.012 0.325 0.036
28 672 0.005 0.325 0.036
7 168 0.003 0.012 0.004
7 168 0.003 0.016 0.005
E3 7 168 0.005 0.035 0.007
7 168 0.011 0.199 0.027
28 672 0.006 0.199 0.027
7 168 0.002 0.011 0.002
7 162 0.004 0.021 0.007
E4 7 167 0.005 0.033 0.010
7 165 0.014 0.176 0.028
28 662 0.006 0.176 0.028
7 168 0.001 0.005 0.001
7 167 0.001 0.013 0.003
E5 7 167 0.001 0.024 0.003
7 166 0.005 0.065 0.014
28 668 0.002 0.065 0.014

20

(ppm)

.06

.04 A

.02 4

.01+

.00

—e—F]l —ax—E2 —8—E3

7-2-1.17 2
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7-2-1.31 3

1
ppm ppm ppm
7 168 0.021 0.057 0.033
7 168 0.016 0.037 0.021
E1 7 168 0.019 0.069 0.033
7 168 0.031 0.268 0.057
28 672 0.022 0.268 0.057
7 168 0.014 0.041 0.024
7 168 0.011 0.029 0.015
E2 7 168 0.016 0.059 0.025
7 168 0.034 0.418 0.064
28 672 0.019 0.418 0.064
7 168 0.016 0.043 0.029
7 168 0.012 0.035 0.016
E3 7 168 0.019 0.063 0.027
7 168 0.032 0.268 0.053
28 672 0.020 0.268 0.053
7 168 0.019 0.047 0.030
7 162 0.014 0.042 0.020
E4 7 167 0.021 0.074 0.034
7 165 0.035 0.229 0.057
28 662 0.022 0.229 0.057
7 168 0.013 0.037 0.024
7 167 0.010 0.024 0.012
E5 7 167 0.015 0.049 0.022
7 166 0.022 0.115 0.043
28 668 0.015 0.115 0.043
1 20

0.07

0.06

0.05

=
g 0.04 -

0.03

0.02

0.01

0.00

—e—Fl —+—E2 —#—F3 -—-E4 05
7-2-1.17 3
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()

7-2-1.32 7-2-1.18
0.008 0.020mg/m® 1 0.033 0.076mg/m?
0.015 0.042mg/m? 0.10mg/m?
1 0.20mg/m?
7-2-1.32
mg/m? mg/m? mg/m®
7 168 0.016 0.049 0.026
7 168 0.019 0.059 0.028
El 7 168 0.015 0.076 0.042
7 168 0.009 0.044 0.020
28 672 0.015 0.076 0.042
7 168 0.017 0.061 0.031
7 168 0.015 0.041 0.020
E2 7 168 0.014 0.049 0.034
7 168 0.009 0.041 0.020
28 672 0.014 0.061 0.034
7 168 0.016 0.047 0.027
7 168 0.017 0.053 0.022
E3 7 168 0.013 0.053 0.031
7 168 0.010 0.038 0.020
28 672 0.014 0.053 0.031
7 168 0.014 0.042 0.025
7 162 0.020 0.060 0.032
E4 6 154 0.014 0.073 0.039
7 168 0.008 0.033 0.015
27 652 0.014 0.073 0.039
7 168 0.015 0.035 0.025
7 168 0.018 0.075 0.027
E5 6 156 0.012 0.058 0.035
7 167 0.009 0.059 0.019
27 659 0.014 0.075 0.035
1 1 0.10mg/m? 1 0.20mg/m?
20
0.10
0,08 mmmmm oo
o
K T
jo))
S
0.04
0.02
0.00
—e—Fl —4+—E2 —®%—E3 - E4 O E5
7-2-1.18
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()

7-2-1.33
0.001ppm 0.004ppm 0.02ppm
7-2-1.33
ppm ppm

7 0.001 0.001

7 <0.001 <0.001

El 7 0.001 0.001
7 <0.001 <0.001

28 0.001 0.001

I <0.001 <0.001

I <0.001 <0.001

E2 7 <0.001 <0.001
7 <0.001 <0.001

28 0.001 <0.001

7 0.002 0.004

7 <0.001 <0.001

E3 7 0.001 0.001
7 0.001 0.001

28 0.001 0.004

7 0.001 0.002

7 <0.001 <0.001

E4 7 <0.001 <0.001
7 <0.001 <0.001

28 0.001 0.002

7 0.001 0.001

7 <0.001 <0.001

ES 7 0.001 0.001
7 <0.001 <0.001

28 0.001 0.001

0.02ppm
0.001ppm

0.001ppm
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(=)
7-2-1.34 7-2-1.19

0.018 0.025pg-TEQ/m®

0.6pg-TEQ/m?
7-2-1.34
pg/m? pg-TEQ/m®
7 1.3 0.015
7 1.8 0.022
El 7 1.3 0.014
7 2.4 0.036
28 1.7 0.022
7 0.73 0.011
7 1.9 0.019
E2 7 1.3 0.016
7 1.9 0.031
28 1.5 0.019
7 1.1 0.013
7 2.1 0.026
E3 7 1.1 0.014
7 1.8 0.029
28 1.5 0.021
7 1.5 0.016
7 2.4 0.030
E4 7 1.9 0.020
7 2.2 0.035
28 2.0 0.025
7 1.2 0.013
7 1.3 0.015
E5 7 1.3 0.018
7 1.5 0.024
28 1.3 0.018
0.6pg-TEQ/m®
0.60
T
E
S 0L40 o
Ll
i
B 080 e---ooooooooom oo
0.20  Jommmmmrooeem e
0,10 Jommmmmmooem e
0.00 Qe : s enesssinses = e =0
—e—Fl —4+—F2 —&—E3 --i--F4 --O--E5
7-2-1.19
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(#h)

0.04pagHg/m?

7-2-1.35

0.001agHg/m?

0.006agHg/m?

7-2-1.35

[agHg/m? [agHg/m?

7 0.001 0.001

7 <0.001 <0.001

El 7 0.001 0.001
7 0.001 0.002

28 0.001 0.002

7 0.001 0.001

7 0.002 0.003

E2 7 0.001 0.001
7 0.001 0.001

28 0.001 0.003

7 0.001 0.001

7 0.002 0.002

E3 7 0.001 0.002
7 0.001 0.001

28 0.001 0.002

7 0.001 0.001

7 0.006 0.008

E4 7 <0.001 <0.001
7 0.005 0.007

28 0.003 0.008

7 0.001 0.001

7 0.002 0.002

E5 7 <0.001 <0.001
7 0.001 0.001

28 0.001 0.002

0.04pagHg/m?
0.001jagHg/m?
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0.0

(7)
da.
7-2-1.36 7-2-1.20
2-1.21
1 2.0m/s
17.2
2-2
7-2-1.36
1
m/s m/s m/s m/s m/s 16
4 30 720 2.4 6.6 0.0 4.1 1.4 25.6 2.4
5 31 744 2.0 6.0 0.0 3.6 1.0 33.9 2.4
6 30 720 2.1 6.3 0.0 3.3 1.2 24.4 1.8
7 31 744 2.2 5.4 0.0 3.7 1.4 44 .8 3.6
8 31 744 1.6 6.1 0.0 3.7 0.3 23.3 16.0
9 30 720 1.8 7.5 0.0 3.7 0.9 23.2 6.1
10 31 744 2.1 12.8 0.0 6.5 1.0 23.0 4.3
11 30 720 1.9 10.1 0.0 4.2 0.5 34.2 9.4
12 31 744 2.0 7.3 0.0 3.5 0.9 42.5 13.0
1 31 744 2.0 8.9 0.0 5.2 0.3 34.9 19.2
2 28 672 1.6 6.4 0.0 3.0 0.5 23.2 16.4
3 31 744 2.1 7.4 0.0 4.0 0.7 16.7 12.8
365 8760 2.0 12.8 0.0 6.5 0.3 17.2 8.9
0.4m/s
10m
5.0
N
&£ BT R
=

7-2-1.20 1
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7-2-1.37

7-2-1.37

2m/s 1.7|15.6|5.8|1.9|0.9|1.0|1.7|6.2|6.7|1.1|0.6|05|1.4|4.6|2.7|1.4|8.9|52.8
2m/s
/s 0.5/6.6 3.3/0.3(0.1/0.3|05(|1.1(4.9(1.2(0.2|/0.1|/0.5|8.0(1.9|0.2|0.0]29.7
3m/s
an/s 0.1/2.4|/0.6|0.0(0.0/0.0(/0.2/0.0|2.9|1.5|0.2|/0.0(0.2|2.6|0.1|0.0(0.0110.8
am/s
6n/s 0.0/ 0.4|/0.1|/0.0(0.0|0.0|0.0|0.0(1.2(1.5]/0.3/0.0({0.2({1.7[0.0[0.0]/0.0{5.5
6m/s 0.0/0.0(0.0|0.0(0.0|0.0|/0.0|/0.0({0.12/{0.4/0.2(0.0[{0.12/0.3[/0.0[0.0]0.011.2

2.3115.0(/9.9(2.2(1.0(1.3|2.3|7.3|15.8(5.7|1.5|0.7|2.5|17.2|4.8 | 1.7 | 8.9 |100.0
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7-2-1.38 7-2-1.22
7 27.2 4.7
8 10 72 12
49
2-2
7-2-1.38
1
4 14.4 25.4 4.5 18.4 6.2
5 19.9 29.9 10.4 23.1 16.5
6 22.2 29.6 15.2 24.9 17.4
7 27.2 33.7 21.9 29.3 23.6
8 26.6 36.1 19.7 31.0 21.2
9 23.1 30.5 16.2 26.8 19.6
10 17.2 32.3 10.2 24.7 11.4
11 12.4 21.8 2.8 17.0 6.7
12 6.8 17.8 -0.7 10.4 3.3
1 4.7 14.8 -2.7 8.8 0.3
2 5.3 15.0 -2.3 10.0 2.0
3 11.3 22.5 2.0 17.2 4.3
16.0 36.1 -2.7 31.0 0.3
4 61 91 18 88 42
5 65 89 20 83 40
6 63 88 16 82 38
7 70 89 38 82 63
8 72 90 32 85 54
9 68 90 22 89 45
10 72 90 25 90 43
11 57 91 22 78 37
12 49 91 19 74 29
1 49 91 14 74 28
2 51 91 18 85 29
3 61 92 14 84 27
62 92 14 90 27
1.5m
40
30
20
10
O T T T T T T T T T T T 0
5 6 7 8 9 10 11 12 1 2 3
_._ +
7-2-1.22
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7-2-

7-2-1.39

7-2-1.24

1.23

10

0.40kW/m?

7

0.22kW/m?

-0.03kW/m?

10

-0.07kW/m?

1

12

2-2

kW/m?

7-2-1.39

0.04
0.06
0.07
0.08
0.07
0.08
0.03
0.03
0.07
0.04
0.07
0.06
0.04
-0.09
-0.10
-0.09
-0.08
-0.05
-0.06
-0.09
-0.09
-0.10
-0.10
-0.10
-0.09
-0.10

0.58
0.58
0.58
0.58
0.47
0.50
0.44
0.39
0.33
0.39
0.44
0.54
0.58
-0.01
-0.02
-0.02
-0.01
-0.01
-0.01

0.00
-0.02
-0.03
-0.01
-0.01
-0.01

0.00

0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
-0.11
-0.11
-0.12
-0.09
-0.08
-0.08
-0.11
-0.11
-0.10
-0.11
-0.10
-0.10
-0.12

0.99
1.02
1.11
1.03
1.01
0.92
0.79
0.66
0.56
0.71
0.75
0.90
1.11
0.00
-0.01

0.01
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.01

0.39
0.40
0.36
0.40
0.29
0.31
0.22
0.26
0.26
0.29
0.30
0.36
0.33
-0.06
-0.06
-0.05
-0.04
-0.03
-0.04
-0.03
-0.06
-0.07
-0.07
-0.06
-0.05
-0.05

10
11
12

10
11
12

OkW/m?

OkW/m?

1.5m

0.50
0.40

0.30

ZW/MA

0.20
0.10
0.00

12

11

10

7-2-1.23
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0.00 - . - - ' ' ' ' ' '
S
= -0.02
-0.04
-0.06
-0.08
4 5 6 7 8 9 10 11 12 1 2 3
7-2-1.24
d.
7-2-1.40
7-2-1.41 7-2-1-25
35.3
2-2
7-2-1.40
U T e
2 2 - ?
i ; O.GOTKW/m o.3ngW/m 015 K 0 0.028 KU |0 a0 e
5 _ 2
0-60 KW/ | 0,30 ki | 0.15 Ki/m T [0-020 KW 5 040 Kism °
U 2 A A-B B D D G G
2 U 3| AB B c D D E F
3 U 4 B B-C c D D D £
4 U 6 c C-D D D D D D
6 U c D D D D D b
12
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7-2-1.41

A A-B B B-C C C-D D E F G
4 5.1 9.7 7.6 2.1 7.1 2.2 31.5 4.4 7.4 22.8
5 6.2 13.2 12.0 1.5 6.3 0.7 25.5 4.7 9.1 20.8
6 5.8 11.5 10.0 1.4 7.1 0.6 30.0 6.5 7.4 19.7
7 6.5 11.6 10.8 2.4 6.9 1.1 32.0 6.6 5.8 16.5
8 4.0 12.0 10.3 1.1 4.4 0.4 48.3 3.2 0.8 15.5
9 6.0 7.8 9.3 0.8 4.7 0.8 42.6 1.8 2.4 23.8
10 2.8 4.4 7.3 1.2 4.0 0.4 53.8 3.1 4.0 19.0
11 1.0 8.8 8.2 1.3 4.7 1.0 33.2 5.4 9.4 27.1
12 0.0 8.2 7.3 3.1 3.1 3.6 27.0 5.0 15.7 27.0
1 0.5 7.1 7.5 1.7 3.2 3.6 30.1 5.4 10.2 30.5
2 5.2 10.7 9.5 1.2 2.7 0.6 31.7 3.7 6.3 28.4
3 7.8 9.0 5.9 1.7 4.7 1.1 37.2 4.2 6.0 22.3
4.2 9.5 8.8 1.6 4.9 1.3 35.3 4.5 7.1 22.7
30.4 35.3 34.3
40
35
30
e 25
&4
20
=
L] 15
10
5 II
A A-B B B-C C C-D E F G
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25m 7-2-1.27

150m

v
_—
_—
v

v
pral)

_
7-2-1.27 150m

1 25m

2 6:00 7:30 9:00 10:30 12:00 15:00 18:00 21:00
24:00 3:00 4:30 7:30 9:00 10:30 12:00 15:00 18:00 21:00
24:00 3:00 4:30 6 00

3 150m

4 0.1
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7-2-1.42

150m

24 4 30
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18 21

150m

21

150m

21 6

7-89

24

24

21

18

30

30

24

30

12



150m

7-2-1.42

6:00

7:30

9:00
10:30
12:00
15:00
18:00
21:00
24:00

3:00
4:30
6:00
7:30
9:00
10:30
12:00
15:00
18:00
21:00
24:00

3:00
4:30
7:30
9:00
10:30
12:00
15:00
18:00
21:00
24:00

3:00
4:30
6:00
7:30
9:00
10:30
12:00
15:00
18:00
21:00
24:00

3:00
4:30
6:00

7-90



7-2-1.43 7-2-1.28 1 12
0.4m/s
7-2-1.43
m
25 16.1 19.3 32.1 17.9
50 17.9 24.6 26.8 16.1
75 17.9 15.8 23.2 19.6
100 16.1 15.8 33.9 19.6
125 17.9 17.5 30.9 21.4
150 14.3 15.8 31.4 26.8
175 14.3 19.6 36.0 17.0
200 16.1 19.6 31.9 25.0
225 14.5 21.4 31.1 30.0
250 16.4 22.2 31.7 31.3
275 16.4 27.8 35.0 28.3
300 14.5 26.9 35.1 26.2
325 14.5 27.5 25.7 19.5
350 14.5 27.1 28.1 25.0
375 13.0 20.8 25.8 21.1
400 14.8 19.1 29.0 19.4
425 13.7 22.7 35.5 20.0
450 15.7 21.4 32.3 25.0
475 16.0 26.8 27.6 24.1
500 16.0 20.5 29.6 21.4
550 16.3 20.5 26.9 23.1
600 14.3 18.9 20.8 23.1
650 12.5 28.6 31.8 28.0
700 12.5 21.2 33.3 22.7
750 15.6 28.1 , 26.3 30.0
800 20.9 19.4 , 31.6 23.5
850 12.2 13.8 29.4 25.0
900 15.8 17.9 42.9 26.7
950 13.9 22.2 30.8 33.3
1000 12.5 18.5 30.8 33.3
4 18 3 25 8 2 6 9 9 10 12
3 18 24 1 24 1 31 4 30
2
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115m

215m

200m

275m

0.4m/s

Calm

7-2-1.28 1
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A75m
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7-2-1.28 2
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250m 275m 300m

7-2-1.28 4
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375m

325m

450m

425m

4Mm

.4m/s

0

Calm

7-2-1.28 5
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7-2-1.28 6
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7-2-1.28 7
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7-2-1.28 8

7-99



7-2-1.28 9
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7-2-1.28 10
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7-2-1.28 11
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7-2-1.28 12
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7-2-1.44
7-2-1.29
7-2-1.44
m m/s m/s m/s m/s m/s m/s m/s m/s m/s m/s m/s m/s
25 2.9 3.2 3.1 3.3 2.3 2.9 2.9 2.8 2.8 3.2 2.7 2.9
50 3.9 4.5 4.2 2.7 2.6 2.7 2.9 3.1 3.0 2.8 3.4 3.3
75 3.0 3.6 3.3 2.8 2.9 2.8 3.5 4.1 3.9 3.6 3.9 3.9
100 3.1 4.3 3.7 2.8 2.8 2.8 3.2 3.9 3.6 3.8 4.6 4.4
125 3.2 4.3 3.7 2.7 3.1 2.9 3.6 4.3 4.0 4.1 5.5 5.1
150 3.6 4.5 4.0 2.9 3.2 3.0 4.1 5.3 4.8 4.7 6.1 5.8
175 3.7 4.6 4.1 2.9 3.5 3.1 4.3 5.8 5.2 4.6 6.0 5.6
200 3.9 4.7 4.3 3.3 3.7 3.5 4.6 5.7 5.2 4.5 6.5 5.9
225 3.9 5.0 4.4 3.3 3.9 3.5 5.2 5.9 5.6 4.8 6.4 5.9
250 4.1 5.1 4.6 3.7 4.2 3.9 5.7 6.1 5.9 4.7 6.4 5.9
275 4.1 5.2 4.6 3.5 4.3 3.8 6.3 6.3 6.3 4.7 6.4 5.8
300 3.9 5.3 4.6 3.8 4.4 4.1 6.5 6.2 6.3 4.6 6.2 5.6
325 4.0 5.4 4.7 4.0 4.5 4.2 6.8 6.6 6.7 5.1 6.5 6.0
350 4.2 5.6 4.9 4.1 4.4 4.2 6.5 6.9 6.7 4.7 6.9 6.0
375 3.8 5.7 4.7 4.0 4.5 4.2 6.7 7.0 6.9 4.8 7.1 6.1
400 4.0 5.7 4.8 4.0 4.5 4.2 6.8 7.4 7.2 4.2 7.4 5.9
425 4.0 5.6 4.7 4.0 4.8 4.3 6.8 7.3 7.1 4.2 7.0 5.7
450 3.9 5.6 4.6 4.0 4.6 4.3 6.7 6.8 6.8 4.5 6.4 5.5
475 4.0 5.3 4.6 4.1 4.6 4.3 6.6 7.3 7.0 4.5 6.0 5.3
500 4.0 5.1 4.5 4.2 4.7 4.4 6.2 6.9 6.6 4.0 6.1 5.1
550 4.2 5.0 4.5 4.5 4.6 4.5 5.9 6.4 6.2 4.1 5.9 5.1
600 4.0 5.0 4.5 4.8 4.5 4.7 5.7 7.0 6.4 5.0 5.3 5.3
650 4.1 4.8 4.4 4.7 4.5 4.6 5.7 6.8 6.3 4.5 5.9 5.3
700 4.2 4.9 4.5 4.6 4.7 4.6 4.4 7.0 5.8 5.1 6.4 5.8
750 4.3 4.9 4.6 4.2 4.4 4.3 4.7 6.9 5.7 5.4 6.6 6.0
800 4.4 4.6 4.5 4.0 4.0 4.0 4.6 6.6 5.5 5.6 5.0 5.8
850 4.2 4.3 4.2 4.0 3.6 3.8 4.5 6.9 5.5 6.1 6.3 6.5
900 4.4 4.0 4.2 3.6 3.9 3.7 4.5 6.4 5.2 6.1 5.7 6.5
950 4.3 4.1 4.2 3.3 4.1 3.6 4.3 7.6 5.3 6.6 6.3 6.9
1000 4.4 3.6 4.2 3.2 3.9 3.5 4.8 7.9 5.8 7.6 6.6 7.9
4 18 3 25 6 8 2 6 9 9 10
12 3 18 24 1 24 3 31 4 30
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500m 700m

357
30 6
7-2-1.45 1
7-2-1.45 2
52 6 16 136
7-2-1.45 3
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15 143 7-2-1.45 4

7-2-1.45 1
1 0.04ppm
1 J—
0.1ppm
1
0.10mg/m? 1
0.20mg/m? 10pm
1 1 0.04ppm
1 0.04ppm 0.06ppm
0.06ppm
0.6pg-TEQ/m? 2,3,7,8-
7-2-1.45 2
98 0.04ppm
7-2-1.45 3
0.02ppm 1
7-2-1.45 4

0.04pagHg/m®

7-107




(2)

t
@
El E5 7-2-1.15
7-2-1.32 L.om
3_\_,
@
7.
7-2-1.46
1
25 3 29
7-2-1.46
o o ©
o o © -
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(7)
7-2-1.30

A

\4
A

A

7-2-1.30
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()

12 12
a.
< 0.5m/s >
_ 1 Qp (Z - He)z (Z + He)z 6
C(Rz) = ’ﬁ m [exp {—TZZ + exp —TZZ 10
< 0.4m/s >
1 1
CR2) = 2 { + } 10°
@2m)2y  (RZ4 (02/y2) (He—2)? RZ+ (a2/y?) (He +2)?
C R,z R,z ppm  mg/m?
R m
X m
y m
z 1.5m
Q m*/s kg/s
u m/s
H m
O m
o ( m/s
\V4 m/s
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7-2-1.47

7-2-1.48
7-2-1.47
0,(x) =y, x%
a V2 X m
1.122 0.0800 0 300
A 1.514 0.00855 300 500
2.109 0.000212 500
B 0.964 0.1272 0 500
1.094 0.0570 500
C 0.918 0.1068 0
0.826 0.1046 0 1,000
D 0.632 0.400 1,000 10,000
0.555 0.811 10,000
0.788 0.0928 0 1,000
E 0.565 0.433 1,000 10,000
0.415 1.732 10,000
0.748 0.0621 0 1,000
F 0.526 0.370 1,000 10,000
0.323 2.41 10,000
0.794 0.0373 0 1,000
G 0.637 0.1105 1,000 2,000
0.431 0.529 2,000 10,000
0.222 3.62 10,000
A-B B-C C-D
12 12
7-2-1.48
(O Y
A 0.948 1.569
A-B 0.859 0.862
B 0.781 0.474
B-C 0.702 0.314
C 0.635 0.208
C-D 0.542 0.153
D 0.470 0.113
E 0.439 0.067
F 0.439 0.048
G 0.439 0.029
12 12
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CONCAWE
He = Hy + AH
CONCAWE AH 0175 QuY? u™3/4
Briggs AH 14 QuY* (de/dz)~3/8
He m
Ho m
AH m
Qu cal/s
Q=P G Q AT
P 0 1.293>10%g/m?
Co 0.24cal/(K g)
Q m3N/s
AT
u m/s
dO/dz /m 0.003
(r2)
(x) 98 2
2
98 2

7-112

0.010

Briggs

98



7-2-1.31
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(7)

a.
12 12
2 2 2
C(x,y,z) = Zm?ﬁ exp <— 2}c’ry2> [exp {— %} + exp {— %}] 106
C x,Y,z X,Y,Z ppm  mg/m?
X m
y m
1.5m
Q m/s kg/s
U m/s
He m
oy m
o, m
7-2-1.49
Oy

0.2
<t>
Oy = O —
y yp
tp

t 60
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7-2-1.49

oy(x) =yy x%

Ay Yy x_m

A 0.901 0.426 0 1,000
0.851 0.602 1,000

5 0.914 0.282 0 1,000
0.865 0.396 1,000

c 0.924 0.1772 0 1,000
0.885 0.232 1,000

D 0.929 0.1107 0 1,000
0.889 0.1467 1,000

e 0.921 0.0864 0 1,000
0.897 0.1019 1,000

E 0.929 0.0554 0 1,000
0.889 0.0733 1,000

G 0.921 0.0380 0 1,000
0.896 0.0452 1,000

7-115
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()

a.
12 12
_ 2 2
C(x,2) = —anypczu Z [eXp {— % Hzecjzan) } + exp {— et Hzecjzan) }] 106
n=—oo
C x,z X,Z ppm mg/m?
X m
z 1.5m
Q m/s kg/s
L m
u m/s
He m
Oy m
o, m
3

7-116



()

Crnax =

Xmax

Qp

TVA

106

V2 oy u Lf

=u

Pa

Cmax
Qp

o-yf

O_yc
He

Ho
u
Lf

0-ZC
Xmax

P

C

Cmax Xmax
Le® — Hy?

P 4 x

ppm  mg/m?
m/s kg/s

Gyf O_yc 0.47 He

He Ho AMH
m/s

L 1.1 He 2.15 O

g/m?
cal/(m K s)
cal/(K g)

7-117
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G.
(x)
a.
b.
G.
H, = H, + AH
Vs
AH =2 (— - 1.5) D
u
He
Ho
AH
Vs
u
Ds
d.

m/s

m/s

7-118
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(#)

H, = Hy + AH — AH’

CONCAWE

Huber

40m

AH =0.175 QuY? u3/4

He

Ho

Hb
AH
AH~
Qu

AH' = 0.333AH  [Hy/Hp < 1.2]

= 0.333AH — {(H,/Hp, — 1.2)(0.2563AH)}

m

m

40m
m
m
cal/s
=P G Q AT
0 1.293>=10%/m?
0.24cal/(K g)
m/s
m/s

7-119
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F.
(7)
2-3-6 2-3.19
2-3-6 2-3.12
90m
()
10
10
2-3
1
U, = Us (Z/ZS)P
Uz m/s
Us m/s
Z
Zs m
P
p 12 12
7-2-1.50
7-2-1.50 P
A B o D E F G
P 0.10 0.15 0.20 0.25 0.25 0.30
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()

7-121

(x)
El
7-2-1.51
7-2-1.51
ppm ppm mg/m? pg-TEQ/m? gHg/m?
0.001 0.022 0.015 0.022 0.001
E1l 0.001 0.022 0.015 0.022 0.001
E2 0.000 0.019 0.014 0.019 0.001
E3 0.001 0.020 0.014 0.021 0.001
E4 0.001 0.022 0.014 0.025 0.003
E5 0.001 0.015 0.014 0.018 0.001
- 0.022 0.015 - -
7-131
0.0002mg/m*
0.0002mg/m®
1.
(7)
(«)
a.
7-2-1.52
7-2-1.52
1.0 m/s 2.0 m/s 3.0 m/s
A o o o
B o o} o
O




172
Z, 2_0[ F ] 0.5m/s
u-b,

Z, AF04 D06 0.4m/s
Z1 m
U m/s

b1 m/s?

F m*/s®

2 =3.7x10%-Q
P.p.T H

S s

g 9.8m/s?
Qu cal/s
Ce 0.24cal/(K g)

P g/m?

AT K

ae K/m
dz

2.9m

D 125m

7-122



7-2-1.53
7-2-1.53
1.0 m/s 2.0 m/s 3.0 m/s 4.0 m/s 5.0 m/s 6.0 m/s
Strong Inversion o o o o o o
Strong Inversion
(@]
d.
27.5m/s 2/3
18.4m/s 90m
C D
e,
7-2-1.54
7-2-1.54
1.0 m/s 2.0 m/s 3.0 m/s 4.0 m/s 5.0 m/s 6.0 m/s 10.0 m/s
A o o o
B o o o o
C o o o o o o o
D o o o o o o o
E o o o o
o
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@

(7)

0.00091ppm 4.0

0.00101pg-TEQ/m?

0.6pg-TEQ/m®
0.04pagHg/m?

7-2-1.55 7-2-1.32 1
0.00050ppm 33.3
0.00020mg/m* 1.3
4.4 0.00030agHg/m?

0.0230pg-TEQ/m?
0.0013agHg/m?

E4

0.0252pg-TEQ/m? 0.0031pugHg/ m?

2.3% 0.00011mg/ m?

0.00051ppm

0.7%

7-124

23.1

5



7-2-1.55

A 5 A+B A/(A+B)><100

0.00050 0.001 0.0015 33.3

El 0.00009 0.001 0.0011 8.3
E2 0.00007 0.000 0.0001 100.0

PP E3 0.00034 0.001 0.0013 25.4
E4 0.00010 0.001 0.0011 9.1

E5 0.00016 0.001 0.0012 13.8

0.00091 0.022 0.0229 4.0

El 0.00015 0.022 0.0222 0.7

E2 0.00013 0.019 0.0191 0.7

ppm E3 0.00061 0.020 0.0206 3.0
E4 0.00018 0.022 0.0222 0.8

E5 0.00029 0.015 0.0153 1.9

0.00051 0.022 0.0225 2.3

0.00020 0.015 0.0152 1.3

El 0.00003 0.015 0.0150 0.2

E2 0.00003 0.014 0.0140 0.2

mg/ E3 0.00014 0.014 0.0141 1.0
E4 0.00004 0.014 0.0140 0.3

E5 0.00007 0.014 0.0141 0.5

0.00011 0.015 0.0151 0.7

0.00101 0.022 0.0230 4.4

El 0.00017 0.022 0.0222 0.8

E2 0.00014 0.019 0.0191 0.7

pg-TEQ/

E3 0.00068 0.021 0.0217 3.1

E4 0.00020 0.025 0.0252 0.8

ES 0.00032 0.018 0.0183 1.7

0.00030 0.001 0.0013 23.1

El 0.00005 0.001 0.0011 4.8

E2 0.00004 0.001 0.0010 3.8

HgHg/

E3 0.00020 0.001 0.0012 16.7

E4 0.00006 0.003 0.0031 2.0

E5 0.00010 0.001 0.0011 9.1

1.2km
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© HNEEXREEXE
e SHEE

- - = R

® EXEHRELRMBS (0.00020mg/m?)
B HbEENR
A SHHEGEBEM S (0.00011mg/m?)

LOTHS,

SR, K RO R () S LT B AR S A - T LT

§ = 1:50,000 o

7-2-1.32 3
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LOTHS,

© HNEEXREEXE

g T‘Fﬁ

- - HRE 0
@ BAEMREHTMA (0.00101pg-TEQ/m) § = 1:50,000
B HRibifEihs

SR, K RO R () S LT B AR S A - T LT

7-2-1.32 4
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© HEREEREEE
—— Tl

-+ = HEH

® BANMREHRMSA (0.00030 ¢ gHeg/m?)
B RiEENS
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()

6 5
0.2199 0677 A
0.017ppm
0.0225ppm 0.022ppm
0.0168ppm-0.0166ppm 0.0002ppm
0.002ppm
(2) 98 2
2
2 1.3333 0.0017
98 1.5347 0.0133
2 2.1418 0.0065
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E1l

98



7-2-1.56
2 0.002 0.004ppm 98
0.033 0.039ppm 2 0.037 0.039mg/m?
98% 0.043ppm
2% 0.039mg/m?
7-2-1.56
98
2
0.0015 0.004
E1 0.0011 0.003
E2 0.0001 0.002
PR E3 0.0013 0.003
0.04ppm
E4 0.0011 0.003
E5 0.0012 0.003
0.0170 0.039
E1 0.0167 0.039 98
E2 0.0151 0.036 0.04ppm
ppm E3 0.0158 0.038
E4 0.0167 0.039 1
E5 0.0130 0.033 0.04ppm 0.06ppm
0.0192 0.043
0.0152 0.039
E1 0.0150 0.039
E2 0.0140 0.037
mg/m? E3 0.0141 0.037 1
E4 0.0140 0.037 0.10mg/m
E5 0.0141 0.037
0.0151 0.039
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(7)
7-2-1.57
1.0m/s A
0.0050ppm 0.0090ppm 0.0020mg/m? 0.0030ppm
7-2-1.57
m/s ppm ppm mg/m? ppm m
1.0 0.0050 0.0090 0.0020 0.0030 1,330
A 2.0 0.0038 0.0068 0.0015 0.0023 1,080
3.0 0.0032 0.0057 0.0013 0.0019 930
1.0 0.0038 0.0068 0.0015 0.0023 2,430
B 2.0 0.0032 0.0057 0.0013 0.0019 1,880
3.0 0.0025 0.0045 0.0010 0.0015 1,630
(4)
7-2-1.58
0.0070ppm 0.0127ppm
0.0028mg/m* 0.0042ppm
7-2-1.58
m/s ppm ppm mg/m® ppm m
2.9
D 0.0070 0.0127 0.0028 0.0042 2,000
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()

7-2-1.59
1.0m/s 0.0300ppm
0.0540ppm 0.0120mg/m? 0.0180ppm
7-2-1.59
m/s ppm ppm mg/m? ppm m
1.0 0.0300 0.0540 0.0120 0.0180 560
2.0 0.0193 0.0348 0.0077 0.0116 870
3.0 0.0138 0.0248 0.0055 0.0083 1,160
4.0 0.0105 0.0188 0.0042 0.0063 1,460
5.0 0.0085 0.0153 0.0033 0.0051 1,770
6.0 0.0070 0.0127 0.0028 0.0042 2,070
(x)
7-2-1.60
18.4m/s C
0.0010ppm 0.0018ppm 0.0003mg/m*
0.0006ppm
7-2-1.60
m/s ppm ppm mg/m® ppm m
C 18.4 0.0010 0.0018 0.0003 0.0006 1,630
D 18.4 0.0010 0.0018 0.0003 0.0006 1,620
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(#)

7-2-1.61

1.0m/s A
0.0053ppm 0.0097ppm 0.0022mg/m? 0.0032ppm
7-2-1.61
m/s ppm ppm mg/m? ppm m
1.0 0.0053 0.0097 0.0022 0.0032 1,280
A 2.0 0.0040 0.0072 0.0017 0.0024 1,030
3.0 0.0033 0.0060 0.0013 0.0020 930
1.0 0.0042 0.0075 0.0017 0.0025 2,330
B 2.0 0.0033 0.0060 0.0013 0.0020 1,830
3.0 0.0027 0.0048 0.0010 0.0016 1,630
4.0 0.0023 0.0042 0.0010 0.0014 1,530
1.0 0.0028 0.0052 0.0012 0.0017 3,830
2.0 0.0023 0.0042 0.0010 0.0014 2,880
3.0 0.0018 0.0033 0.0007 0.0011 2,530
C 4.0 0.0017 0.0030 0.0007 0.0010 2,330
5.0 0.0015 0.0027 0.0007 0.0009 1,980
6.0 0.0013 0.0023 0.0005 0.0008 1,980
10.0 0.0008 0.0015 0.0003 0.0005 1,980
1.0 0.0028 0.0052 0.0012 0.0017 3,620
2.0 0.0022 0.0038 0.0008 0.0013 2,780
3.0 0.0018 0.0033 0.0007 0.0011 2,430
D 4.0 0.0015 0.0027 0.0007 0.0009 2,280
5.0 0.0013 0.0023 0.0005 0.0008 1,980
6.0 0.0012 0.0022 0.0005 0.0007 1,980
10.0 0.0008 0.0015 0.0003 0.0005 1,980
1.0 0.0015 0.0027 0.0007 0.0009 4,630
£ 2.0 0.0015 0.0027 0.0007 0.0009 4,630
3.0 0.0013 0.0023 0.0005 0.0008 4,430
4.0 0.0010 0.0018 0.0003 0.0006 4,030

7-135



(#h)

7-2-1.62
0.0380ppm
0.1020ppm 0.0880mg/m* 0.0190ppm
7-2-1.62
. 0.0130 0.0150 0.0380 0.0090 0.0133
PP 0.0050 0.0070 0.0300 0.0010 0.0053 0.1ppm !
m 0.2770 0.2807 0.3220 0.2698 0.2777
PP 0.0090 0.0127 0.0540 0.0018 0.0097
0.1
ppm 0.0922 0.0930 0.1020 0.0905 0.0923 0.2ppn ,
ma/m 0.0780 0.0788 0.0880 0.0763 0.0782
g 0.0020 0.0028 0.0120 0.0003 0.0022 0.20mg/m? !
i 0.0040 0.0052 0.0190 0.0016 0.0042
PP 0.0030 0.0042 0.0180 0.0006 0.0032 0.02ppm 3
A D Strong C A
Inversion
2.9
m/s 1.0 1.0 18.4 1.0
53 3
0.1 0.2ppm
52 6 136
0.02ppm
1
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(3)

i _\.
'J.f'

F.
1.
(7)
7-2-1.63
0.04ppm
98 0.04ppm
1 0.10mg/m?
0.6pg-TEQ/m®
0.04puagHg/m®
15 7
(«)
7-2-1.64
1 0.1ppm
53 1 0.1 0.2ppm
1 0.20mg/m?
52
136 1 0.02ppm
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S

F.

1.

(7)

2 0.004ppm
0.039ppm 2 0.039mg/m?
0.0230pg-TEQ/m? 0.0013agHg/m?
98%
2% 0.039mg/m*
1.0 0.7
()
0.0380ppm 0.1020ppm 0.0880mg/m?

0.0190ppm
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98

0.043ppm



